7. @mw 57E0s5TLrmeuflenFuleyerer GLims s ener
basgazsp@ilu  gGseib  Quw wonsmer
oo fld .

8. wemewGwrr, urlFew wmpyb, Lewfler afle»evd
@DUTL_ (B eTeTHMerd: HMEHFL (B,  FTT 6wl

Sliygd Corgemerenws FMlimmdseaLb.

a9 emav GT GOOT GI01) &5 GO &
QLT®aT 995 | 2000 | 1995 | 2000
A 80 | 105 | 4 6
B 15 | 30 2 3
C 8 14 3 4
D 35 | 80 1 2
E 160 | 210 | 5 5

9. Wereummib ALigmisesd@ ereflus @miiy 9% g0
LbHmILD, BlewevL1L1(h & & w @iy & &) & LD
YRWaDIDS FERBHF :

i 191 .
(wig@g} obsel Opmens mgi;;m
5 - 5w Gip 15,000 360
5- d@ 30 - G@Lb
@)oo ulsv 20,000 400
30 - 4 Guos 10,000 280

10. g Fevayrhuleyerer omesteuigefler Fops oHMLD,
QummermsrT pleneuleners Heuri_Mleisn@ 6

dermrs Ll 1guicy &uimmldEeyLb.

Register Number :
Name of the Candidate :
1156
B.Com. DEGREE EXAMINATION, 2009
(SECOND YEAR)
(PART - 1V)
(PAPER - 1)
231/620/630. BUSINESS STATISTICS
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B.Com. (Accounting & Finance) ]

May | [ Time: 3 Hours
Maximum : 100 Marks

Answer any FIVE questions.
All questions carry equal marks.
(5 x 20 =100)

1. (a) Explain any one method of collecting
primary data.

(b) Mention the advantages and disadvantages
of secondary data.
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2. (a) Draw Ogive curves for the following data 4. (o) Casrl L $Qswalmar yeradB®eusmns Tar
and find out median : QauciBaip WpDE®T U TILIDISHS.
() Gipau@mib  LITUENSHG  &HrievL e 6t

Class | Frequency Cari 1L &Qs1pemars sesHBF :
0-5 6 e -
5-10 10 5-15 10
15-25 20
10-15 4 25-35 30
15 - 20 12 35-45 40
45 - 55 50
20 - 2
0-25 8 55 - 65 60
25 - 30 2 65-75 70
75-85 80
(b) Discuss the quantitative classification of 5. @ wrdsepsfev. Guurer gL HneysQsipaianer
data. wemgwenm OFuig, 90 %epelenarts L9656 LD

N LITBIH @GS %HewrdEH L eyLb.

X:|{45( 81]10-3|12:5]16:0/20-5(21-0| 24-5

3. (a) Mention the properties of a good average.

(c) Compute arithmetic mean, median and Y :|150] 165 184 | 205 | 210 | 225 | 240 | 264
mode for the following frequency 6. wsgrarduer weplmart LLELGHSS 35
distribution : MWGHGL L L GooeuTellsealler 556555655

X = FSETEHBBHF :
10 - 14 15 . @ [ & 6u 1T 6l & GiT
15-19 18 F& e LD
20 - 24 28 25 - 6@ Fup 15
25 - 29 30 30 - 4@ GLp 24
30 - 34 15 40 - 6@ &ip 38
35-39 10 50 - @& GLb 51
40 - 44 5
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(o) Yetraupid aITmISHEHSHG QRENFG 6UGH TSN 6T

UDTHG, Qe _Blevvenusd FewrsHBF

Gfay | oyeeeram
0-5 6
5-10 10

10 - 15 4

15-20 12

20 - 25 8

25 - 30 2

() yoroflelLigmis@pdSTer  ere)  FIibs

UMSHUTL_FHewar alerd @ s.

(=) 15 6V 6V &7 & ifl uf) et LI GBST L| & 69 GIT &
@OIL19B 5.

(<2y) L9607 6u (15 LD 2916 & ©) 61 GudT LI T QUa) & &
Il QFFTmFd, Qe pleve wDMILD, LPHH

YQRweuHdIDSGE FMEHBHF :

X F
10 - 14 15
15-19 18
20 - 24 28
25-29 30
30 -34 15
35-39 10
40 - 44 5

3

4. (a) Define different methods of measuring
co-efficient of skewness.
(b) Compute Karl Pearson’s co-efficient of
skewness for the following distribution :
Class f
5-15 10
15 - 25 20
25 - 35 30
35 - 45 40
45 - 55 50
55 - 65 60
65 - 75 70
75 -85 80
5. Define correlation between two variables and
compute the co-efficient of correlation for the
data given below :
X:|45( 81]10-3[12:5|16:0|20-5|21-0( 24-5
Y:[150]| 165|184 | 205 | 210 | 225|240 | 264
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6. Determine the percentage of criminals under
35 years of age using Lagrange’s method :

Age % Criminals
Under 25 yrs. 15
Under 30 yrs. 24
Under 40 yrs. 38
Under 50 yrs. 51

7. Explain any two methods of eliminating trend
in a time series.

8. Compute Laspeyre’s, Paasche’s and Fisher’s
price index numbers and check if they satisfy
the factor reversal test:

Price Quantitly
Commodity

1995 | 2000 | 1995 2000

A 80 105 4 6

B 15 30 2 3

C 8 14 3 4

D 35 80 1 2

E 160 | 210 5 5

9. Compute crude death rate and standardised
death rate for the following information :

i years | Poveation | g
Below 5 15,000 360
Between 5 and 30 20,000 400
Above 30 10,000 280

10. Prepare a questionnaire to collect information
from the students of a college about their
social and economic status.
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